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s : #Irct
1) ETeie 3/ a9 ST ol

T eIl HeTe deeiTd ‘FeagR de’ ATaTd Ueh de TR, WIa=gd! AT TeadTa ot
SfIqHT TEeR qedT=AT Ul BTd ATdvaTe cEied T18 Bidl.

2. SR SagR I A1 el FEET fUrmR et ¢ geuer 98 | et o g, WA
I HETS AY FAWE hell. BN Alehreal AR 0 ArE ¢33 UsH &, JSshi-l &d:
TooaTe 1ot fUga weh S1=Imft TuRy Tuaet!. giotdreiier. Fevl s et I1 deeTd Tgurft et
oy et R, gfetar Tmad, FEAA SPTvATET g% HesTen TR ST TR STIR e
AT, ‘FECR s’ & ST 3TN Uehl TET TTEfieR 3R,

. MESHU-l THEN Aiefauarand! SIvrdn ARt smRe ? (410)

1) 3TNy 2) AIE 3) gepmral 4) &9
2) ST @IS 1 A SATAAT 163 Wil Jeht it ? (412)

1) T8 2) el 3) @ 4) TTET
3)  WIeicth JIeves Taee isg i@, (413)

1) =TT 9Tt 2) hiesl T 3) MT I 4) BT
4) WS HSHETE aTRuETE VTR TR vIee Wiciietdent sivtat ? (407)

1) @Re K ER:T) 3) @R "8 4) Temn ars
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5) | Uehl AT Ueh AR U SHTSAT I 318, Tehel I WeSATd USeiedl SiTefl Hr=al fueeaman
Sitel STereel. degTITed el 1 o= oesl e, o fig carell 42 T 9ed gld.  Ted st
STeAl A AT JdS I I UG I T TehT T BR T hed A Bid. @l IS
AT &gy L BT, AR Teh AT Taaeil, JgHl JHTo7 ore SR HILATe 37Tel. |9 $aft
ATeTeT fehoft g T=ATat Yo TTell, JTa SadTed Tehl TR 39 Hdet!. a|r af HaAl
WIeAl ST, AT ISt U2 AT HHATAT AR STEUTAT Tehl HISa WA ISetl. el A
AT 479 Hdeil o I §gl e ATl 3R ohel.

e TS HIUT TgUT AR 92t (406)

1) arad el T STt 2) IR foresta A
3) TErE W T, 4) Th 9 THesd %es.
s : arfora

6) Fromemn wrem defer wed 1 smen [0 [3[4[5]2 ] s@ amm 2. 1 o arem [0[3] 5[ 3] 1]z,
W 57 Afg=ama fondt gfte fasren s zmen 2 (401)

1) 69 2) 79 3) 59 4) 89
7) el e sedmeiet Taeien W ShivTe TqUTiehH grEare ? (406)

1) =+ 2) -+

3) = 9 =

8)  UTEUl I Hiet RguTS feRelt TR ? (413 )
1) 75 g+t 2) 150 g+t 3) 125 g+t 4) 175 |

9) WU WHH 6 AN 45 H. Feolelt T8 Aewatent TRt 10 o 10 fi. digeett, ® @
TAETAT fehelt A emTen 2 (416 )

1) 399 25 4t 2) 4 9™ 25 3) 2 @& 25 ©t 4) 39 15 ot
10) SThdmete sEa ECDF < uRtwat fohett ? ( 412)

1) 16 &+t A
2) 14 g+t E F
3) 12 o :E
4) 15 9
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Use correct punctuation mark and complete the sentence (412)

What is your wish

1) . 2) ? 3!
Find the word that shows action. ( 415)

1) blue 2) speak 3) wife
Tick the proper word from the table ( 409)

1) hat S t n

2) wat c a d

3) bat P b m

4) fan

Who is Maya ? (423)
1) Doctor

2) Tailor

3) Housewife

4) Milkmaid

Fisher ...............

1) man 2) van 3) fan
vz : Qe

HioTea feavtt 12 amaren fem 9 12 amr=h = ema. ? (411)

1) 21 53 2) 21 A 3) 22 feu=X

IS WS ... wgurara. ( 410)

1) gatea 2) gIR 3) HEE

(U= p. 3) Ttz 4 em

4,

4) home

4) can

4) 71

4) T
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18) WeiicTdehl AHEMTHA E1EE v AR ? ( 413)

1) TR 2) HieTsA 3) qmoft 4) &
19) foEE, e d AR TS AT FIade qeer GE .. ... ..... ( 403)
1) et ga Tad 2) FAfteh gId Tad 3) HHT 3ok B Ued 4) Weord AT
20) TR S qEE T AT T ST T (AT ) ST J19 ST STEE @ TR e . (414)
1) TITAT HITRThS B IS . 2) e faom |l 9.
3) Tl STRIehs B IS . 4) T T U9 ST,

fawg . Fmfois o
21) wieRas sfag@mE Swivren JE TR et ? ( 419)

1) sy fas 2) RS 3) TUIRES 4) fyrafige
22) TR GRAeR BT ATGE HROL...... ( 419)

1) IfeATETR I THGUITETS! 2) WY RSt

3) greTiest 9 |l firesfervamaTdt 4) TS FIEIETER o) a9 SEqUATETd]
23) AFTSIET WA AT %@ g ? (419)

1) e 2) gatsh 3) TRRETSH 4) Tramsh
24) TERET AT AR WEFAEET WiEk ot gt ? ( 418)

1) et @ 98T ST g 2) Rt ae gee R grar.

3) e STy e HETATd T Bl 4) T8 99 U,

25) ‘91 ORI 3118, ST SIEHT, 3TISh, TR ik ATeameft THHN dierar.
Trere YA RTaRErea afenga Eefietahl ShIuTdt Ut 3TerETd wetl.  ( 418)

1) T 3mmer = 2) FeaTeR YT
3) U=AT ST I 4) &Y, gEN TEEar
(SHe=aT RMTETST AR

(4 . 8) = 4o [P.T.0.]



